BT

xf M

K (HREEOH)

FrE R ERTEENE N DA FR

Rk 2 443 A 3 1 BEIE

R FEEATEBNEN
FRZRNRR AR — R

F H

&

(M)

I EREDH

1 REVEPE
Bl
e JAHAI
eSS I

TENE PEA =T

2 [EHEEE
& EE AR

14,872
1,413,124

1,427,996

1,429,996

M ERYEDOT

IEBRRAPE

(D BEARSE)
(X4 1] 1 A Jp pE HE )

1,429,996
( 0)
(1,429,996)

AR K IERMEEA R

1,429,996




b
&

PEH @&k (RREORD)

FrE R ERTEEYNEN OA TR

Rk 2 4453 3 1 HEE

R FEEATEBNEN
FRZRR AR — M

® H

28

o
il

I

EEEDHER

1 JiEhE

B4

e JA BRI
W iEp )

TEhE PEA =T

2 [EEEE
& EE AR

14,872
1,413,124

1,427,996

1,427,996

IEBRRPE

1,427,996




B A

Xt M R (RRlEEt o)

FrE R ERTEENE N DA FR

Rk 2 443 A 3 1 BEIE

R FEEATEBNEN
FRZRNRR AR — R

F H

&

w1

I HEDOH
1 BV
Bl

TENE PEA =T

2 [EHEEE
& EEEAG

56,904

56,904

56,904

M EREDOT

EWRIY P

(9 BLEARSE)
(Y4 51 1E R P 1 I06E)

56,904
( 0)
(56,904)

AR OUEBRME A E

56,904




FrE R ERTEEYNEN OA TR

M pE H  x FFHIREOHRD)

Rk 2 4453 3 1 HEE

R FEEATEBNEN
FRZRR AR — M

® H

28
%.

& (F9)

I HEEDOH
1 VRENEPE
Bl

TENE PEA =T

2 [EEEE
& EEEAR

56,904

56,904

IEBRRA PE

56,904




S

SR % CRAHNEHES S E )

FrE R ERTEENE N DA FR

Rk 2 443 A 3 1 BEIE

R FEEATEBNEN
FRZRNR AR — M=

F H

&

w1

I HEDOH
1 BV
Bl
e JAHAI
ARSI S AT

TENE PEA =T

2 [EHTEEE
& EE AR

1,193,848
1,017,985

2,211,833

2,211,833

M ERYEDOT

EWRIY P

(D BLEARSE)
(Y4 H11E R P HE I06H)

2,211,833
( 0)
(1,193,848)

AL OUEBRME A E

2,211,833




FrE R ERTEEYNEN OA TR

W PE B gk CRHACWINERES f e B ELO )

Rk 2 4453 3 1 HEE

R FEEATEBNEN
FRZRR AR — M

# H

B

IR

i
H
~—

I

EREDHL
1 JREhE e
B4
¥4 JA A
FEAECHA ST

B PE AR

1,193,848
1,017,985

2,211,833

2,211,833

IEBRIA PE

2,211,833




